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[D] 8. & F B+ & % 3 4p (homogeneous)¥? £ 3 4p (heterogeneous) » F 31| i@ Jﬁ" B34 F B9
(A)*v & mpF J (B)fg 44 2 (O v 4 2 (D)= i F Jis

[Bl 9.20°Cp-kz 46 3%+ 5728 dyne/cm> %R 5 1 g/cm® > #— = w3 » 20°C k7 - %
B A 743 cmpF o S wp XTS5 5 em?
(A) 0.01 (B) 0.02 (C) 0.03 (D) 0.04

L1448 2N gFk1ms % 17 %47 L7 e w8 ]



[C] 10.% - ¢ =it B F )T%ZA+2B—>C+2D’ AEREBERETRIEEE R AERE R RAE T 0 BE
BT o PTARPE LR R 5 AR ?

PR [A] (M) [B] (M) i % (M /s)
1 0.20 0.10 0.0150
2 0.30 0.10 0.0225
3 0.20 0.20 0.0600
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(A) 120 (B) 240 (C) 480 (D) 2400

[C143. 45y + 2By > Cigy + Dgy 2 F M it F = 4234 5 r =K[A][B]? > IEAP{PA—OSOatm Py =
080atm5é':~1;)ﬁ'%ﬁ—t;r’ﬂlﬁf@;JPC—OZOatmEf\ }@ ;.F‘,‘I:L __,rm;",p.‘?

1 1
(A) 5 B) (C)gg G))g
[B] 44. 4 77 i & F it {7 citimdh BAL S ?
A)F g5 B)FFF BB (OTF &S (D)= F st

[B] 45. T 7)ir & 5 % 5k 2 F i 5 #ﬁ’imﬁ > ?
wlEz] (e ®E2]|#F]T «M%@rﬁﬁﬁrlam%grl

[Cl46,A>B+C 5-%F &> HF i 5§85 87X103s7 1 pIAaj230%g & 554 °
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[A](M) 2.3300 2.2050 2.1205
T(s) 0 185 310
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